Math 1B Quiz / NAME YOU ASKED TO BE CALLEV 1IN CLAdD:

7:30am — 8:20am Version B
FriJun 8, 2012

SCORE: /30 POINTS

You may or may not need the following reduction formulae.
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Evaluate J‘—dx. Simplify your final answer. SCORE: /8 PTS
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Use integration by parts to prove the reduction formula for JCOS" X dx at the top of this quiz.
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Evaluate J x* (Inx)* dx . Simplify your final answer. SCORE: /5 PTS
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Evaluate J.e_z’r sin4x dx . Simplify your final answer. SCORE: ____/5PTS
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Evaluate jtan“ xsec® x dx . Simplify your final answer. SCORE: ___/5PTS
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